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Question 1 2marks

(a) A signal named dry is at a low logic level.
Is it dry (yes or no)?

(b) What logic level would you expect if an
alarm signal was indicating a warning and
the name of an output was warning_n

(high or low)?

Question 2 2marks

Fill in the blank boxes in the table below so that
all values in each row are consistent (agree with
each other). The first row is an example.

signal
name

truth
value
(T/F)

truth
value
in an

expres‑
sion
(0/1)

logic
level
(H/L)

Verilog
value
when
input
(0/1)

running T 1 L 0

clear 0

cold* F

Question 3 5marks

Amodule named m is declared as:
module m

#(parameter i=4)

( input logic [7:0] x, y, c ) ;

endmodule

Another module, named top is declared as:
module top ;

logic [7:0] a, b, c ;

assign a = 3 ;

assign b = 2 ;

assign c = 1 ;

m m0 (a,b,c) ;

m #(2) m1 (.y(b),.x(a),.*) ;

m #(.i(1)) m2 (a-c,b,a+1) ;

endmodule

Fill in the following table with the values of
i, x, y and c in each instance of the mmodule in
the topmodule:

instance i x y c

m0

m1

m2
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Question 1 2marks

(a) A signal named wet is at a high logic level.
Is it wet (yes or no)?

(b) What logic level would you expect if an
alarm signal was indicating a warning and
the name of an output was alarm_n (high
or low)?

Question 2 2marks

Fill in the blank boxes in the table below so that
all values in each row are consistent (agree with
each other). The first row is an example.

signal
name

truth
value
(T/F)

truth
value
in an

expres‑
sion
(0/1)

logic
level
(H/L)

Verilog
value
when
input
(0/1)

active T 1 L 0

smoke* 1

hot T

Question 3 5marks

Amodule named m is declared as:
module m

#(parameter i=4)

( input logic [7:0] x, y, c ) ;

endmodule

Another module, named top is declared as:
module top ;

logic [7:0] a, b, c ;

assign a = 1 ;

assign b = 2 ;

assign c = 3 ;

m m0 (a,b,c) ;

m #(1) m1 (.y(b),.x(a),.*) ;

m #(.i(2)) m2 (c-a,b,a+1) ;

endmodule

Fill in the following table with the values of
i, x, y and c in each instance of the mmodule in
the topmodule:

instance i x y c

m0

m1

m2
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